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Rather, it is preferable as we answered initially

OVERVIEW

The X721 offers two methods how we can reconcile *01° "1 (who maintains X7
nn) with our mawn (which rules [312w3a] y17m°). The first was that *0v '
maintains 1112 X7° only when there is a X117 X7 (and in our 71wn there is no
X171 °RT). The second was that "0 ' maintains 717 X7 only when XX
(°R117) R7°00 (however in our 73wn there is no *Rn7% X7°09 [by R°¥n]). The
X3 refuted the second answer because in our 71wn there will be a X7°09
®xn12 (by n"w). Therefore the X3 concluded that we accept the first
answer. No0N is unsure if the second answer is completely rejected or not.
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We can say that the X3 retracted from the second answer (which
maintained that >X»77 X7°09 alone is sufficient cause to rule 717 X7°) and

now maintains that the cause of s8%=77 79057 alone is insufficient to rule nn X7
(as we see from our 71wn, that by n"mn there is a x> 70977 and nevertheless the rule is
1?19m° and not 112 Xi7) -
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For 5oy '3 does not punish and rule nn X7, unless there is a >X»9 X7

and the > will suffer a loss by the mam X -
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However on the other hand, wherever there is a 829 but there is no loss

then °01 "7 will not punish and rule nnn &7 -
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As is evident from the language of "0 "7 where he states ‘that if so (if we
will let each one receive their 731) then what did the >8%9 lose.” According to

" Others amend this to read >0 97 X?X ™37 7°2 7771 897 (That he did not completely retract, but rather it is
not sufficient...). The meaning remains the same.

* If we would retain the n*>v and one payment (the 721 would obviously receive the other payment), then
the &1 will lose, for he paid for the n°2v and is receiving nothing in return.

? The term '0°3p' (and 011p* X2) which Mmoo uses would seem to indicate that Mmoo is discussing the X7
nnn of the two N1, not the Nw>w man (whose m1n X7 is not a 01p). However this would pose a problem
with moIn proof later from *191n (which is discussing the '3 7an'). See M NX *"22 (and footnote # 9).

* In the case of n"w» there is no *X»7 *x71 for possibly each one thinks the 727 agreed to sell it to him.

* This would be in a case of NN *IX or Y1ANR TNREA *INY D7 TNRLA "IN,

® If >0y "1 maintains m1 X7 if there is a *X»7 °XT (regardless whether *X»179 X7°09 X2X or not) then why does
he say X117 7097 71 O"XR'; he should merely state "Rn7 3R or something similar.
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this view, while we are rejecting the second answer as the sole criterion for saying X
nn will still accept it as an additional criterion for ruling nnm X, Two criteria are
necessary; X7 X7 and X179 R7°0D xR,

mooIn is not satisfied with this interpretation:
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However, from the expression '8®X' (but rather), which the X713 uses, this

indicates that the X721 rejected completely the second answer. Only the criterion
of "Xn7 K71 is used (according to 01 ") to rule n1m X, regardless whether there is a
X700 for the *X»7 or not.”

mooIn offers a proof that *Xn7% R7°05 XX is irrelevant:
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And similarly shortly where the X773 asks; ‘whether according to the

1229 or whether according to o '3 we should rule 7292 X7’ in the case of
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even though that in that case there is no loss to the 8= if we would rule x7
n1n. This proves that *01° " rules m1 X7 even if there is no X7°09, as long as there is a
X7 R

SUMMARY

It is possible to assume that *01 "3 will rule nn X7 if two criteria are met;
"R °RT and X% XT°0D ROX; however it seems that he will rule 1112 X7 if
there is “Xn7 °XT1 (even if there is no >Xn7% X7°0D).

THINKING IT OVER

nmooIN proves that °01° " maintains 1% X7 even when X7°09 X2 from the
fact the X7n3 asks that *01 " should maintain 127 X7 by "1 (where there is
X709 X2°9). However another question remains; why did the X773 assume
that *01 ' maintains 111 X7 even when X7°05 X2°2 since *01 " said 7% O"R
xm i oo 2!

7 moon may be suggesting this to bolster his view (Xin *X 7"7) that by *X»7 °XT1 we also rule (712w32) P10 .
¥ According to this view 01 " will maintain n» X7 in a case of 72NN K.

 We will say according to this opinion that *0v ' said *X»1 7°097 7 "X to explain why we do not give
them the 771n which is certainly theirs; however concerning the 711 which is in doubt, it is *Xn7 X7 alone
which causes us to rule 7% X7 See 2> MK 7"210.

' The money should be taken from the 2";wa and not given either to the > or the worker until one of
them admits.

' See n"ma.
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